R

1 HE im&ﬁ@m
%&é b%ﬁtfwé%mk (eI EA 2 20

2 FEREMFE

oM om % A BRI A

4AHE~10RW Kig % 60 A
5 GRRTEEE CKETHICMEE 21T 5 B A DRI

£ OE OB B ' kO OE O %

OB & m@Em | = B & % ()
1 Y _ 15,0001 %k 400,000
9 R AE 30.000
3 diEmBRE . 50,000

3 2t

4 AEEPONBRE (MHEEEETS L) CKETRICRERE 21T HE0OLRR)
%%%ﬁﬁ%&ﬁcfﬁﬁiéo -

)

o

5 R, {EEE. ARSOBRSE CIICEREELT ) BADS
AR L |

6 ﬁ@ﬁ%%(X&%@%éﬁﬂﬁ@Eﬂ%h%é%ﬂ#kHé$ﬁ®% DHFHE)

(1) sEIEREHE o 2 km
(ZJﬁ#ﬁﬁ ‘ E3 5 45
(3) EfEFE CCRFE) . AmE

(GERESR)

1 T2 EREMEE . BT T BB R RS L, T ORIERIEET B TRERKE RN
TB5Z L,

o [3EMIESE] X, EHOFE»DRTECHID NI >V THERZEHR TS L,



